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The question paper comprises of two sections, A and B. You are to
attempt both the sections.

All questions are compulsory.

There is no overall choice. However, internal choice has been
provided in all the three questions of five marks category. Only one
option in such questions is to be attempted.

All questions of Section A and all questions of Section B are to be
attempted separately.

Questions number 1 to 4 in Section A are one-mark questions.
These are to be answered in one word or one sentence.

Questions number § to 13 in Section A are two-mark questions.
These are to be answered in about 30 words each.

Questions number 14 to 22 in Section A are three-mark questions.
These are to be answered in about 50 words each.

Questions number 23 to 25.in Section A are five-mark questions.
These are to be answered in about 70 words each.

Questions number 26 to 41 in Section B are multiple choice
questions based on practical skills. Each question is a one-mark
question. You are to select one most appropriate response out of the
four provided to you.
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SECTION A
1. 39 FEf® A Sv & Ted 99 & AW qu ¥ fafey, S et T
(0]
| '
~C~0H - %1 o
Write the name and formula of the first member of the series

O
|

of carbon cbmpounds having functional group — C — OH.
2. WHE 91 # fRedd o9 % ©F 9§ Si@ &g | 1

State one function of the crystalline lens in the human eye.

3. dYAVEH & ITAR TR W ASH & F FE 7 ? 1
What is the function of ozone at the higher level of atmosphere ?

4. @ 7 & 9§ T SRR JEa | fFER ST

9 — 5H - ;W
Ife 919 F 10000 J TR Fe1 3y @, d I H WHEFRT 4 & fow @ & o9
fepl STl SUciey BN 2 1

Consider the following food chain which occurs in a forest :
Grass — Deer — Lion

If 10000 J of solar energy is available to the grass, how much energy
would be available to the deer to transfer it to the lion ?

5. 9 3@ T fGw T E
B6 " oF, . 15Ky 95Ca

() % a9 9T 9% SrEy FI9 § U goeg 2 |
(i) 999 9 & I T@ g | 2
Choose from the following :

iBe, oF, 19K, 5Ca

(i) The element having one electron in the outermost shell.

r (ii)) Two elements of the same group.

31/2/1 3 PO



6. fordt o S T TE 13 7 |,
(a) T9 O I G AT A1 e T F g ?
(b) IE T UIg § YA I ? U W H YT HC |
An element has atomic number 13.

- (a) What is the group and period number to which this element
belongs ?

(b) Is this element a metal or a non-metal ? Justify your answer.

7. U ¥ Fifge wad fafy & 3w 9 F @ Al F R aARe | AR Ry e e
T3 QU g R I F o fafy & swEm e S @

List two advantages of practising vegetative propagation in plants.
Select two plants raised by this method from the list given below :

banana, gram, pea, rose, tomato, wheat

8. WH W & T 4T & I AW F e SR ST A4 H a0 WA wd & | g ¥
YRt @ e A & @ fafee |

List the parts of human male reproductive system which contribute
fluid to the semen. State two advantages semen offers to the sperms.

9. Y R0 aE Wi & O e @ v R @ 3wE & 7 | 3 Rl @
I 39 TR R S @ fF o ¥ eiedd & qvend S feund Serd § g #
I G | 39 YRR F S ROl A R ST a9 A9 ¥ et & UvEr §9 Rl
F vy fafEy | @7 A Ol & 3T S 3Td oW & f a9 2f & a9 fud
for & o9 g 4 yfafe @i fafq 30 @ § ST |

To construct a ray diagram we use two light rays which are so
chosen that it is easy to know their directions after refraction from
the lens. List these two rays and state the path of these rays after
refraction. Use these two rays to locate the image of an object placed
between f” and 2f” of a convex lens.

10, TEUY A TN ¥ fA S T sRw Witew @ ag fag sifed W Sl
(i) aof fadrqur, (i) AR wEds e 2 |

Draw a ray diagram to show the formation of a rainbow and mark
the point where (i) dispersion, (ii) internal reflection occurs.
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11. “ardfas At g oMU GAE % WG & o o & A & SR e
21 U FI H FROT F? ? TH NG T WY ST | 2

“The time difference between the actual sunset and the apparent
sunset is about 2 minutes.” What is the reason for the same ?
Explain with the help of a diagram.

12, o # ‘S fafagar & & @’ &6 7 S@r 8 2 T SUE @ gE 9hRt
& @ ¥ FE Thd oAk a9 Ud asiad & A H gWEt dneE & gehdl
g | 2

Why are forests considered “biodiversity hot spots” ? List two ways in
which an individual can effectively contribute to the management of
forests and wildlife.

13. ‘WUt wema” @ o faf@w | G wshvr @ germ § g SuAnT 39W g | fed
TER H ? 2

State the meaning of “sustainable management”. Reuse is better than
recycling. How ?

14. FEf A F Tede sk qar gerHer sfufE § d e Sk ik
s & fou sfafea & wemfe wie off fafae | () TR a9 (i) SR
rffsran &1 =1 39T @ 2 3

Distinguish between esterification and saponification reactions of
organic compounds with the help of the chemical equation for each.
What is the use of (i) esters and (ii) saponification process ?

15. (a) <@l @ eMyfAs emed WRUM K fRa evad § 2
(b) fFfht o § W § = T W, W] B, GESEa aar afes awon
¥ g1 ufedq @ @ 2
(c) foreh oed & 918 &R ¥ I{ R IH | T & WA] WES H JA enfeasd
el ¥ fFY TR SR o g 2 3

(a) How many periods are there in the modern periodic table of
elements ?

(b) How do atomic radius, valency and metallic character vary down
a group ?

(¢) How do the atomic size and metallic character of elements vary
as we move from left to right in a period ?
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16. TH (AIDS) F1 € ? IHF G & AU siEr S e § 7 3 T &
Tod F TE Oy 9 fAfae | S ¥ 9w § U U % 98T ¥ Wy s
What is AIDS ? Which microbe is responsible for AIDS infection ?

State one mode of transmission of this disease. Explain in brief one
measure for the prevention of AIDS.

17. “FR =t 3 Siad S § A SvEl # ST ST W S dvnga T a
THAT |7 T HYT A TH IR B Gl § Q¥ Y a9 3@ FRo o
fafaq |
“An individual cannot pass on to its progeny the experiences of its
life-time.” Justify the statement with the help of an example and also
give reason for the same.

18. (i) &9 =i, sidl, eiuy a9 susfedl § e S@d § | F91 e9 IHE &6

T g T SR ® Wit W § R ST 9 § 2 W 2

(i) TS YO & Scwo@ Fie S9s g0 78 g fear o1 9% fo ofddl @
foeprer wlgal & gam 2 |

(1) We see eyes in planaria, insects, octopus and vertebrates. Can

eyes be grouped together in case of the above-mentioned animals
to establish a common evolutionary origin ? Why ?

(ii) State one evidence to prove that birds have evolved from reptiles.

19. YAR 3@ & WeEdl ¥ v ¥ Wy e & A ¥ fed qewm fyg &
aEfes gfe ¥ fomr frefoor fofw wom fFen Smn @ | A @ fen, QA A F @4
fary & fomm fauftor % e sweer @ar @ 2
With the help of a flow chart explain in brief how the sex of a
newborn is genetically determined in human beings. Which of the two

parents, the mother or the father, is responsible for determination of
sex of a child ?

20. i feafedl § T 0o & ¥aR fafew
() f&f SR & oA (F5-912)
(i) fodlt o F1 9va-3¥F YO
(i) ER w2t
I W H FRU Gied IE FfT |
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Name the type of mirror used in the following situations :
(1) Headlights of a car

(i)  Rear-view mirror of a vehicle

(iii) Solar furnace

Support your answer with reason.

21. @K 4 cm T 79 24 cm BT U & FFE 0 A9 & T 9 & g fad
‘%léﬁ@ﬁwﬁqﬁ 16cm%iéﬂ§jmwmaﬁmﬁwﬁm?ﬁ§ﬁ

(faftr), @RS ar yafad Fa ST | 3

A 4 cm tall object is placed perpendicular to the principal axis of a
convex lens of focal length 24 cm. The distance of the object from the
lens is 16 cm. Using lens formula, find the position, size and nature
of the image formed.

22, e ¢fE QU-F% 7 B0 Y I H WY F @ TA & A F fAw wen
ferur o @ife | 39 §fF A9 F IO A F F FWOT A g SR |
fre &fE QW-g% A7 aren FE AR 2 m ¥ uE ¥ W Ryq awgelt ® @ 74
G U | 39S 39 ¥ Q9 $ Guifad A Al o R YER & B 2 39 YeR
F o9 3 39 ¥ A9 T GO @A & U uw RO sm@ SRy | 3
Draw a diagram to show why distant objects cannot be seen distinctly by
a myopic eye. List two reasons due to which this defect of vision may be
caused.
A person with a myopic eye cannot see objects clearly beyond a distance
of 2m. Name the type of the corrective lens that would be needed to
correct the defect of vision and draw a ray diagram to show how the defect
gets corrected.

23. (a) foelt 3fuq 3T I Weam §, B9 awen ifulwRar % fow staves Rftafadt

AN 3 T F WY e Ed ¥ g a0 5w uReds @ seew

m@m@aﬁwﬁmaﬂmmi
(b) U@ TESIHET FANT ¥ Y FER FuGEA w0 § 2 39 fou Tt
Wﬁ@ql%mwﬁﬂﬁmmﬁéaﬂtﬁ? 5
et :
TEEfE 3fE W WET a9 SUESE F 8 2 WEH 5N GEE A & R & wWE
FAT | FoR ST 81 W F 89 IR & ZR 304 FIS F O §Hhd &, FROT

fafaw |
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(a) With the help of a suitable example, explain the process of
hydrogenation mentioning the conditions of the reaction and any
one change in physical property with the formation of the
product.

(b) How does a saturated hydrocarbon react with chlorine ? Write
chemical equation for it. What type of reaction is it called and
why ?

OR

What are soaps and detergents chemically ? Explain the action of
cleaning by soaps. State the reason why we can wash our clothes
even in hard water using detergents.

24. (1) TUF 3N & GeId § WE FIT & W T Q9 & afGHm W Tge &
TYE R TG (S HH) F A TG (ST HIOSH) TF G H H
TIPS B ¢ | 39 oG § e, W e, R G qFl WIHU H
AHHA BT |
(i) G & Y fafEw qur W HR WO & s fasied s arer oot
F IE FIST |

g

5T § 39 feddl @ Ieo@ &g S fEEr e sve (FEAW) § AMe O
S W Y F T A 9% A 2 | 59 fe e @ R A @, @@
T Far ® ?

(i) Explain with the help of a diagram how pollen after landing on
the stigma of a flower helps male germ cell to reach the female
germ cell. Label the following : ovary, female germ cell, male
germ cell and pollen grain.

(ii) State the meaning of pollination and mention a distinguishing
feature between self-pollination and cross-pollination.

OR

State in brief the changes that take place in a fertilized egg (zygote)
till birth of the child in the human female reproductive system. What
happens to the egg when it is not fertilized ?

31/2/1 8



25. T oG T YEY F e & fav g wRuet &t g R
diga 39 fog Rl & s Rt O el o F @ wied g
FH A FGC S o9 F 16 em R Rod ol fom & @9 [ smefa awdfas
yfefera s 2 | 5

HAGdr

YEIRT & 37acq & 1w fafeu | fadt arem & oy sadais aor frata # sen
I WA F A9 G H <A g Eeg [AEy |

fedt oM % F W Y F OGNy SuEddiE 2/3 3 a4 W Y @ Rl 3y
U ‘7 % WU SuedHi 4/3 ® | WEAH 7 Wl AW X % G 3qadHs 3
T | '

List the sign conventions that are followed in case of refraction of light
through spherical lenses. Draw a diagram and apply these conventions in
determining the nature and focal length of a spherical lens which forms
three times magnified real image of an object placed 16 cm from the lens.

OR

State the laws of refraction of light. Write an expression to relate
absolute refractive index of a medium with speed of light in vacuum.

The refractive index of a medium X’ with respect to vy’ is 2/3 and the
refractive index of medium ‘y’ with respect to ‘z’ is 4/3. Calculate the
refractive index of medium ‘z’ with respect of ¥’

9 §
SECTION B
26. W TThe & T fRdl I oMYA S H e T | e faerad & a1 i
(A) U T
(B) W &
(C) e Hiem
(D) &Y Hren

Some crystals of ferrous sulphate were dissolved in distilled water. The
colour of the solution obtained was

(A) dark green
(B) pale green
(C) light blue
(D) dark blue

31/2/1 9 Ryl I0.



27. FE B IR WEAGEl § FAT UG Tehe, HR Tohe, WY Tore a7
Yohe & ey faersd da T faoed § ©& 991 AR &1 U9 Sl § | 38 99
Y Y& R W T8 A€ U § R et 36 P R T 90 Wa T T S oS
2
(A) T wehe faeaa §

(B) ®W Tohe faead #
(C) WE wowe faoma

(D) f5 go%e fooa |

A student puts one big iron screw each in four test tubes containing
aqueous solutions of aluminium sulphate, copper sulphate, ferrous
sulphate and zinc sulphate. After some time he observed a reddish
brown coating only on the surface of the screw which was put in the
solution of

(A) Aluminium sulphate
(B)  Copper sulphate

(C) Ferrous sulphate
(D) Zinc sulphate

28. ek ovar § g o 2

@A) TR
(B) @S S
© g F @ S
(D) faw S

Acetic acid smells like
(A) an orange

(B) an onion

(C) lemon juice

(D) vinegar

31/2/1 10



29, foemw Themr # @@ a1 fFan Sran @ f& vdifes o & ey faeaw 1
(A) e foremg i TEA S e §
(B)  faewd #I @ & < @
(C) o faeng & Hferm & 2 @
(D) @ foene & TRA & o §

In a litmus test it is observed that an aqueous solution of acetic acid
turns

(A)  blue litmus colourless
(B) blue litmus red
(C) red litmus blue

(D) red litmus colourless

30. FK B a, b, ¢, T d 3ifFa IR WaEAfed @@ &’ FWE NaCl, Na,CO,,
NaHCO, @1 NaOH R g | &8 a9 ¥ & Waqer § Udfesd o s @
3R R & I WEell & @ & (e Sorl dict ol g | 9% I8 Ml SaT @

5 weront & el g3 o 2, 3 1
(A) a3Wb
(B) b3 e
(C) c3itd
(D) d3R a

A student takes four test tubes marked a, b, ¢ and d containing
NaCl, Na,CO;, NaHCO; and NaOH respectively. He adds acetic acid
to the test tubes one by one and every time he immediately brings a
lighted match-stick near to the mouth of the test tube. He observes
that the match-stick extinguishes in the cases of

(A) aandb
(B) b andc
(&) <candd
(D) danda

31/2/1 11 P:1:0.



31. freh qme fra & R TR T RO @Y 3R gRE X BEET 35 TR W
fagfra sfafera a1 St 2 | T I X F AT

(A) eEad YT
(B) 3IUd o9
(C) 3@ o™
(D) & @ IEdA U HFAl I A

Parallel light rays from a distant object incident on a device X’ form
a point size image on a screen. The device X’ must be

(A) a concave mirror
(B) a convex lens
(C) a concave lens

(D) either a concave mirror or a convex lens

32. st o = ol g fom & & W yafom o F el 39 o9 & By
i fuffd S 2 1 o oo a9 & faw 38 4R R T sHe ST s

wifgw ?

a. F9 (S 3 cm) AW F AF I |

b. TP a8 (S8 5cm)3H & 9 T4 |

c. U9 Y INAYH U W I T |

d JEdfe @ T I A
e. FR & Tf ToI FAH W |

£ R A FH-9-59 TH5W A

(A) a,c3Re
(B) b,d3Rf
(C) a,d3Rf
(D) b,d3Ne

31/2/1 2



A student has to determine the focal length of a convex lens by
obtaining the image of a distant object on a screen. Which of the
following measures should he take to obtain better results ?

a Select a lens of small diameter (say 3 cm).

b. Select a lens of larger diameter (say 5 cm).

C: Select an object very far from the lens.

d. Select an object far, but not very far, from the lens.

e. Keep all the lights of the room on.
£ Keep minimum lights of the room on.
(A) a,cande
(B) b,dandf
C) a,dandt
'(D) b, d and e
33. @ 8™ X, Y iR Z 30 g g4 M faei & wiafera e # fQu T swEae guur
F WY T 9 W @ ¢ | X FERmer 5 ey fass #t i @ v

fafe o IR W R | Y TTen & fee & Whe [ $URA @ Sl a4 @l
2R Z gl o fog & ORw = fafas o Far € | e g W s Ui

I I & /A 36 8/8 1
A) X
B) =¥
(C) - =&

(D) X Y aHi

Three students X, Y and Z are finding the focal length of the given
concave mirror by obtaining the image of the object selected by them.
X obtains the image of the grill of the nearest window of the lab. Y
obtains the image of a white painted building near the lab and Z
obtains a point size image of the sun. The most correct value of the
focal length is obtained by

A) ‘X . ' Y
(B) ¥
[y F

(D) X and Y both

31/2/1 13 PEROL



34, TR BE P Q RIRN ST Li, Lr T L e FH ot T A9 e groi # gwis 78

2
EJE] P Q R S
v
£i 30° 30° 30° 30°
ZF 16° 18° 20° 22°
Le 32° 815 29° 31°

g @ 3 W 9 fafyed o gedEEs fR 8, 98 @

(A)
(B)
(C)
(D)

. e - N

The values of £ i, £ r and £ e as measured by four students P, Q, R
and S are tabulated below :

Students P Q R S
Angles
Zi 30° 30° 30° 30°
LY 16° 18° 20° 22°
Ze 32° 31° 29° 31°

The student who performed the experiment most carefully and

methodically is

(A} P
B) Q
© R
D S

31/2/1 14



35. T F AR WH ¥ TERA ald TH TH fHOT F 99 IRET A F T4 R
A THE, HIY U T AEIE Ferded § ¥ el o & ey gk o g

(A)
(B)
(®)
(D)

(A)
(B)
©)
(D)

F G @ 2 (P, 3R P, WA & fow o f & feafeat §)
5P \
\\ 2 \\ \G)\Pz
\\ \Q\P 2 b oF2
QP 9P, oP; oP,
I I IT1 v
I
II
111
IV
While performing the experiment on tracing the path of a ray of light
through a rectangular glass slab, in which of the following
experimental set-ups is a student likely to get best results ? (P; and
P, are the positions of the pins fixed for the experiment)
\\ P “‘ X
®\\ 2 \\ \@\P2
\ &?Pz ¥ oF2
oP, oP, ®P; oP;
I II III Iv
I
II
111
IV
15 P.T.0.

31/2/1




36. WIS H YU FH & UvEI fHE B A @ § fymved & fafim =l & 99
TUIT SR 3@ T, N Fef 9 H9 § afyd T € |

o0 Y @ &

I
T IREI F TG FH A1 AT
A) 1L IV, I II
(B) IV, II,1,1I
C) ILIL IV, II

(D) IV, LII II

After observing a slide, a student draws the following diagrams for
different stages of binary fission in Amoeba which are not given in a
correct sequence here.

o0 @Y & &

The correct sequence cﬁ' these diagrams should be
(A) - HL IV, I, II
B) IV, II, I, 1II
C) III I, IV, II
(D) IV, I, I, II

31/2/1 16



37. % BH W TR WS & TEASKN § &0 FH & qvAN A9 G T IRE
L dfed 8 | 39 sma ¥ uftar w2 1

(A) e H g @ fEio

(B) dr= ¥ dafq st & fmon
(C) 3 ¥ fg@ued

(D) owiET # Feur 1 fmfor

A student draws the following diagram after observing a prepared
slide under a microscope. This illustrates

(A) bud formation in yeast
(B) formation of daughter cells in yeast
(C) Dbinary fission in amoeba

(D) pseudopodia formation in amoeba

38. w7 # BE F G ¥ gEeH @ UF dOX wiRs fGaE W | fe-f wEt T st

g % oer fus-firg oM@ €9 | 7 ¥ IR sm@ H= fiw T § 1
I 1I II1 g

T W amE /2

A I

(B) 1I

©C I3V

(D) NIaIIl

31/2/1 17 R:T.:0.



A prepared slide of budding in yeast was shown to the students of a
class. Different students made different sketches on the basis of their
memory. Out of these, four diagrams are shown below :

0 88 ¢

The correct diagram(s) is/are

A 1
B II
(C) TIand IV

(D) II and III

39. fEufel & @y warm & w99 fodt v@ 3 fr=fafea @ o
s § foT T S 1 5EEE =25 g
firme @ @ fRufae @ s m =5 ¢
firme & gve feufael &1 5= = 8 g
T % v S § 99 5 # 5 = 21 g

frufiell /0 Sravifya Sl &I Sfavad @

(A) (_25;2}_)_g x 100
25g
@ =98 100
58
(25 -21)g
6) M0 TE8 e 500
(C) g x 10
o &-98 , 100
8¢g

31/2/1 18



(A)

(B)

(C)

(D)

While performing an experiment with raisins, a student took the
following measurements :

Mass of water taken in the beaker = 25 g
Mass of raisins before soaking =5 g
Mass of raisins after soaking =8 g

Mass of water left in the beaker after experiment = 21 g

The percentage of water absorbed by raisins is

(25-21)g &

100
25g

(8-5)g =
5¢g

100

(25-21)g
21g

x 100

(8-5g 5

100
8¢g

40. TR g0 sERIfya S & wfovmar feiRa & & s § siftw a9 o 9 @

it frufisll & gy @ fafles Sof I g Sa1 2 | gue w@ fafy @
(A) ot fEufae & g9 § FEu
(B) it frufielt @t 7@ F A FE
(C) it fruifell W ofafte o & @l & ¥ difst
(D) o fFufel ® fafs a0 & el ™ ¥ difsw
While performing the experiment of determining the percentage of
water absorbed by raisins, the extra water left on the surface of
soaked raisins is removed before final weighing. The correct procedure
for this is
(A) keep the soaked raisins under the sun
(B) keep the soaked raisins under fan
(C) wipe off the extra water using dry cotton wool
(D) wipe off the extra water using filter paper
31/2/1 19 P05



41, fHUlEl g0 SERfG o H SvEd 9 FH & TG H FE b FB W A1
few T & S W@ ww A T 1

a. o feufiel @t dfag

b. g feufasl & dfaw

c. feruifaell & 2 92 9% s § fymsw
d.  ofFf frufil @ 4R-4R difst

T WO H OWE H 7

(A" b, ased
B biec a.d
()b ajd,
(), b,c.d a

Following are the steps involved in the experiment of determining the
percentage of water absorbed by raisins which are not in proper
sequence :

a. Weigh soaked raisins

b. Weigh dry raisins

c. Soak the raisins in water for 2 hours
d. Wipe out soaked raisins gently

The correct sequence of these steps is

LAY D8 el
(B b.¢ed d
(O} boad, e
() - b,ec,d, a

31/21 20 3,950



